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For each of the following questions from 1 to 30, four options. are given. One of them is the
correct answer. Make your choice (1, 2, 3-or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optical Answer Sheet. ‘ [60 marks]

1 The diagram below shows different parts of a plant.
- Which part (A, B, C or D) makes food for the plant?

o}

(
@
®
@

o O o X

(Go onto the next page)




An object A was attracted to a magnet, as shown in the figure below.

iagriet ——1- * |8
object A

Object A is most probably made of

(1) Steel

(2) Weod

(3) Plastic

(4) Rubber

A plant was placed inside a black box with a hole. The black box was placed in a
well-lit place and the plant was watared daily.

————— black bex

hole

After a week, it was observed that the plant grew towards the hole as showrr in
the diagram above. Why was this so?

4} There was more air outside the box.
(2) There was more light oulside the box.
{3) There was more water outside the box.

(4) The leaves made the top of the plant heavier.

(Go on to the next page)
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4

The diagram below shows paris of the human digestive system. Which part
(A, B, C or D) absorbs all the water from the undigestéd food?

(N
(2)
3
4

o I ¢ TN - « .

{Go on to the next page)
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Dytan wanted to find out the best set-up that would keep a grasshopper alive for
the longest time. He created the following set-ups A, B, C and D as shown below.

. Tid with holes

oy N
Linzaninnil

giaszaa; , grasshopper
. ,.. . o ..'... --.
lid without holes
lass jar
gres ja: -~ grasshiopper.
iea e
id with holes
glass jar ) )
e grasshopper

water

lid with halas

glass jar grasshopper

w_ater

Based on your observation of the four set-ups above, in which set-up will the

-grasshopper most likely live the longest?

1) Set-up A
(2) Set-up B
(3) Set-up C
{(4) SetupD

(Go on 1o the next page)




1)
(2)

(3)

(4)

Study the classification chart below carefully.

[

Objects

]

K

1

e

\.

( Group A ( Group B )
{Non-magnetic Objects) {Magnetic Objects)
\. \.. v,
Copper wire [ Iron bar o)
Gold coin Nickel coin

Which of the following can be placed in groups A and B respectively?

Group A GroupB
Steel pa-perc!ip A!uminiunﬁ foil
Aluminium foil ‘Cobalt ring

Cobalt ring ~Stedl paperclip
~Cobalt ring Alaminiam foil

Which one of the fo]idwing subétance‘_.s has a fixed shape?

(1 Ar
(2 - oil
(3) Stone
(4)  Water

{Go on to the next page)




8 Catherine wants to measure the temperature. of hot water in a beaker. Which one
of the following diagrams shows the correct way of holding the thermometer
-when taking the temperature reading?

(M ' (2)

(3) )

9 In which of the following does the underiined item-loses heat energy?

(1) I%ream melting.

(2)  Heating a metal ball,
(3)  Water tuminginto ice.

(4)  Erozen meat being thawed.

{Go on to the next page)




10  Study the diagram below carefully.

it candle

—— liquid wax

.

——

water —4-- — —

\ — - —

What happené when the liquid wax falls onto the water surface?

(1) Both the wax and water gain heat energy.

2) Both the wax and water lose heat energy.

(3) The wax gains heat energy whi-te the water loses heat energy.

(4) The wax loses heat energy while the water gains heat energy.

11 John connected a pump to a metal container as shown in the diagram below.

F

air pum .
pump —— metal container

-

The capacity of the metal container is 400 cm®. When the plunger is pushed in
completely, 50 cm® of air is forced into the metal container. What Is the volume of
air in the container after the plunger is pushed in once?

{1) 350cm®
{2) 400cm’®
3y 450cm®

{4 500cm® (Go on to the next page)




12 Which one of the following Is not a source of heat?
(1) Bolling water
(2)  Humanbody
(3) Woolen gloves
(4)  Lighted ight bulb

13 Four pupils, Ashley, Betty, Claire and Deborah, are predicting what will happen
when a piece of plasticine is compressed.

Ashley: The shape of the plasticine will change.

Betty: The volume of the plasticine wilt change.
Claire: Some plasticine will flow out from the original piece.
Deborah: The volume of the plasticine will remain the same:

Which of the pupils’ predictions are most likely true?

(1)  Betly and Claire only.

{2) Ashley and Deborah only.

(3}  Ashley, Betty and Claire only.

(4)  Ashley, Claire and Deborah only.

{Go on to'the next page)
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10

Which one of the following list of items has been classified correctly under the
various headings?

(1)
&)
(3}
4

Solid state Liquid state Gaseous state
Milk Powder Fruit Juice Carbon Dioxide
Sand Water Milk Powder
Wooden Block Coffee Shadow
Mug Blood ‘Fire

{Goonto the next page)
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15 The diagram below shows a square metal frame with four similar drops of wax
aftached to positions P, Q, Rand S on it.

A

|«
3= uh

e
. |

Timothy heated the metal frame at one point on the metal frame and recorded
the time taken for the drops of wax to melt in the table below.

Position of drop of Time taken for the drop of wax to melt
wax ‘ (seconds)
P 53
Q 17
R 40
S -95
Based on the results above, at which point (A, B, C or D) did Timothy heat the
metal frame?
(1) A
(2 B
(3 C
(4 D

{Go on to the next page)
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12

The diagram below shows the growth of a seed inte a young plant with two
missing stages X and Y.

G..__., —

Stage X Stage Y-

_ Which one of the following shows the corect stages for X and Y?

Stage X a StageY

(1)

(2)

@ | B

(4)

{Go on to the next page)
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The diagram below shows the life cycle of an animal.

r"' egg

adult

L

R

nymph

)

Which animal [s likely to have the life cycle as shown above?

(1}
2)
(3
4)

chicken
mosquito
housefly
cockroach

Which one of the following is the source of light ?

(1)

()

anorange a candle ﬂam
(3) @ '
the moon ateaf

{Go on to the next page)
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14

The set-up below shiows light from a torch shining on a wooden ball.

/'
\

torch

O.

wooden ball

sereen

Which one of the following would likely be seen on the screen?

(1)

@

(3)

(4).

{Go on to the next page)
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20 Adric boiled some water using the pot as shown in the diagram below.

Plastic Handles

Boiling water Pot

He is able to hold the pot of boiling water using the plastic handles. This Is
because plasticis a

(1)  light matenat

(2) flexible material

(3) poor.cenductor of heat
(4) good conductor of heat

(Go-on to the next page)
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21 Four boys, Edison, Mark, Patrick and Walter, tried to look at 2 buming candie
using ey different items as shown below. '

mirror

Edison

_L-shaped cardboard tube
bent straw

war R Q*‘* patrick
,b-— Walter

burning straight
candle metal fube

Which boys were able to see the candle flame?

(1)  Edison and Mark only.
(2)  Mark and Patrick only.
(3) Edison and Waiter only.

{4)  Patrick and Walter-only.

{Go on to the next page)
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22 The graph below shows the number of weeks that was spent in the different
stages in the development of the life cycle of an 1nsect.

Number of 8 -
weeks 4 |
6 -
54 _
4 -
3 .
24
i B
° - st t
egg nymph * adut o cyolos

Based on the information given above, which one of the following statements is
true?

{1 The nymph resembies the aduit.

(2)  Theinsect has a total lifespan of 14 weoks.

(3)  The nymph took two weeks to become an adulf.

(4)  h took five weeks for the insect to hatch from its egg.

{Go on to the next page)
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18

Which of the following will happen when ke changes 1o watei?
It gains heat energy -

ltloses heat enenyy

There is a change in the state of matter.

Thers k no change In the slate of mattor.

2O >

(1) AapdConly.
(2} BandCarly.
(3)  AandDonky.
{4) BandDonly,

Tha dingearmn betow shows an electric fron.

‘B

Wihich of the following commectly desciibe the properties of fha parts A and BY?

Property of A : | ..PmM'p;f-l!
o Poor conduclor of heat | Poor conduciar of heat
- %mrﬁmt " Good condusior of et
(| Goodconditor uf heat Poor conductor of heat
(@ | G009 contuctor of heet Good corductor of heat

(Go.onto the next page}
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25  Jorome has a derited ping pong ball as shown in the: dlagram below. He hen
placed it into a baaker of hot water. After fen minutes, he cheerved that the ging
pong ball had retumed 1o s orginal shape.

20

dented ping-pong ball

L

glass baaker

hot watar

Why did tl*{e ping pong ball retuern to itg orginal shape?

(n
(2}
(3}
(4}

The sir in the ping pong ball lost heat and expanded
Tha air In the ging pong ball lost heat and contrantad
“The air In the ping pong ball gaked hieat and expanded
Thea air n the pifig pong ball gainad heat and centacted

Which of the followding stalements are trua?

A

8
C
L

(n
@

{3}
“

Uight & & foem of energy.

We can see things because kght s reflected into our ayes.

A shadow can come n many shape, sizos and thickness.,

The darkness of a shadow depernds on the amount of light that s blocked
by an object. ‘

Aand B only.
ﬁ &t C only.
B and D only.
A anid D ordy.

{Go gn 1o the next page)
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27 Shaun finds it hard to separate the two glasses, X and Y, as 3hay in the diagram
below.. . ) )

glass X

glass Y

thch -of the following instructions will help him to separate the two glasses?
A Pour hot water into glass X..

B Put some ice cubes into glass X.

C Place glass Y into a basin of hot water.
D

Place glass Y into a basin of cold water.

{t) AandDonly
(2 BandDonly
{3) ‘BandC onlyl
(4) VA and C only

(Go on to the next page)
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Zubair has a metat strip made of 2 kinds of metals, A and B, which are tightly
joined together.

Metal A expands more than Metal B when they are both heated. Which of the
following diagrams below represents the side view of the metal strip when it is
heated?

o) ' @

® @

(Go on to the next page)
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22

Which of the following are needed for a seed to germinate?

A

B
C
b

(1)
(2)
(3)
(4)

Air
Sunfight
Water.
Wannth

A, B and C only
A, Cand D only
“B,Cand D ohly

A B CandD

Gabriel attached a light sensor to a data logger and used it to find out how mucdl
light from a lit torch_is passing through four-sheets of different materials, A, B, ¢
and D. He récorded the results as shown below.

Sheet Amount of light that passed through {units)
A 105. '
B 876
C_ 347
D 576

Which one of the foliowing sheets is fikely to be made of clear glass?

1)
(2}
(3)

- (4)

o O W >

END OF BOOKLET A
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For questions 31 to 44, write your answers in the spaces provided in this booklet.

" The number of marks available is shown In the brackets [ 1at the end of each question or part

question. (40 marks)
31 Fillin the comectparts of a plant in the table below. o 2
Functions bf plant parts Plant parts
It holds the plant upright.

it obtains water for the plant.

32 The diagram below shows the human digestive system.

identify the part where
(a)- digestiap first takes place L : [l
{b} there Is no digestion : {1

(Go on to the next page)
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Yvonne conducted an experiment with four different magnets, A, B, C and D. The results of
her experiment are shown in the table below.

Magnets ‘ Number of thumbtacks that were
) attracted to the magnet
A 4
B 2
C 7
D 5
(a) What was the aim of her experiment? ]

{b) Yvonne has another magnet E. She found that magnet E is stronger than magnet B but
weaker than magnet D.
Predict nhow many thumbtacks would magnet E be able to attract? [1]

{Go on to the next page)

Score
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34  Anexperiment was set up as shown below.

—r

glass beaker-

—————  Water

The amount of food made by the plant was recorded in the table below.

Time (min) Amount of food mada by plant (units)
0 .. 0
30 30
60 " .50
g0 40
120 20
{a) What can be observed from the table above? [2]

(b) Expiain why these was a decrease In the amount of food made by the plant atthe 90" and

120" minute

[

(Go on to the next'bage)

Score




35  The diagram below shows a bottle of cooking oil.

Comp!eie the sentence {o state if the: parts stated are sofid, hqmd or gas.

(é) The cover is a 1]
{b) Ollisa 1]
36 Cyrus conduéted an experiment to find out the relationship between the number of times.he

rubbed his hands against each other and the time taken for one ice cube to melt when they
were held in his hands. He recorded his results in the table below.

Numher of : _
timeshands | 5times 10 times 15 times 20 times
rubbed
Time takén for
one ice cube to
melt in his 8 6% § 8%
hands (min)
{a) What would be the estimated tine taken for one ice cube to melt if he rubbed his
hands 18 times? (1]
() Based oni the results above, what can Cyrus conclude abeut his experiment? [
(Go on to the next page)
Score
4
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37 Choose the comrect words from the box to fill in the blanks below.

Solid Liquid . Gas

(a) Ali pours honey from a bottle onto a table as shown below.

bottle

table

T

"The volume of honey remains the same but its shape changes.

This shows that honeyis a - . ' [1]

{b) All pours some marbles from a bottle onto a table as shown below.

bottle

marble

/ \9 o ® .table

The shape and volume of the marbles remains the same.

This shows that a marvle is a _ _ : g

(Go on to the next page)
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Two ideritical beakers, A and B, containing equal volumes of water, were left on a kifchen
table. The temperature 'of the water in beaker A is at 80°C, while the temperature of water in
Beaker B isat10°C,

(a} Whatwill happen if the beakers of water are left on the kitchen table after an hour?

Put a tick () in the correct boxes below. : 2]
Lose heat Gain heat Increasein | Decrease in
temperature temperature
Water in '
beaker A .
Water in
beaker B
(b) What will the temperature of the water in beakers A and B be-after five hours? 1

Jim placed a laboratory thermometer into a beaker of ice cubes and heated it continuously
until the water is boiling. He recorded the temperature of the waterand plotted a line'graph
as shown bélow.

Temperature (°C)
120

100

80 -

60

40

20

A
O “"““ T T T T T T T T T T ¥
0 5 10 156 20 26 30 35 40 45 &0

Time (minutes)

(Go on to the next page)
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(c) Which pari(s) of the graph show{(s) a gain of heat?
Tick (¥} the correct box{es). 12)
AB

BC

CD

DE

)

(d) Jim tumed off the flame of the burner to allow the beaker of water to cool down. Which
part of the graph showed exactly when Jim had-fwnd off the flame? [

39 The diagram below shows how Yvonne sees the ball,

Based on diagram above, fill in the blanks with the correct sclentific terms for the statement
below.

. ; . noe.
(a) The fromthelampis .. bythe balland enters%m‘s eye,

{Go on fo the next page)
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Jaryl shone his torchlight at three different types of materials A, B and € which were placed in
front of a wall as shgwn in the diagram below.

] i wall ) .
Lit torch
/7
17 (-
N
' ‘Material 8: tracing [
Material A: clear sheet paper
of glass
] ’
~N
Material C: wooden '
board
(b)  Which material will cast the darkest shadow on the wall? , [1]
{c)  Explain your answer in?gl) [

(Go on to the next page)

Score
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40 A, B, Cand D are the various stages in the life cycle of a butterfly.

B
c D
(a) Arrange A, B, C and D In the correct order of the life cycle starting from C, [1]

TN
N

(b}  Basedon the'life cycle ini(a), choose the correct words from the box below to answer
the following questions below.

larva nymph egg pupa young

Name the stages in the life cycle of a butterfly. <1
Stage B: ___

Stage C:

{Go on to the next page)

Score
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41 The diagram below shows a cup filled with hot tea left on a table in an air-conditioned- room

over a period of iwo days.
Hot tea Metal spoon
Cup
(a)  Based on the diagram above, put a letter (T) to indicate that the statement is true and

(b}

{F) to indicate that the statement is false. 21
i The hot tea will lose heat to the cup. ( )
ii. The air in the room will lose heat to the hbtl tea, ( }
iif. The metal spoon will gain heat from the air in the room. ( )
iv, The hot tea, ‘spoon énd cup will have the same temperature
the next day. : { )

If the metal snoon is replaced with a plastic spoon, explain why the plastic spoon will
gain heat slower than the metal spoon. M

(Go on 1o the next page)

1 Score
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42 Joseph filled a trough with hot water. The trough has three rods A, B and C attached fo it.
‘ Rods A, B and C are made of different matetials. Each rod has a similar piece of wax stuck
fo its end as shown in the diagram below. - :

Joseph used a stopwatch and recorded the time taken for each piece of wax to melt. He
recorded his observations in the table shown below.

Time taken for fhe wax to melf
Rod .
{min)
A 8
B 12
G 10

(a)  Based on the table above, arrange the rods A, B and C from the one that will melt the
wax the fastest to the one that melt the wax the slowest Fill in the boxes below with

the letters A, B and C. [1]

Orop of wax that

D
rop of wax that » melted the slowest

melted the fastest -

(b)  Based on the results in the table above, which rod is the best conducior of-heat?  [1]

{6)  Explain your answer to part (b) above. [

{Go onto the next pags)

Score
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43 Edison formed a shadow on the wall of his rcom by placing a toy in front of a lighted torch as
show in the diagram below.

Lit torch
(a) Suggest 2 ways that Edison can cast a bigger shadow. (21
®
(it)
(b)  Explain how a shadow is formed. 0

{Go on to the next page)

Score




44

14

Study the flowchart below.

.Yes | Is the animal an
@4—— insect?

(a)

(b)

jook like the » hsect?

Does the young | Yes lsmeanhna!an_ Yes
aduit?

Na _No_

R

‘Based 6n the flowchart above, state two differences between.animal Band D, . §2]

0

i)

Using the ﬂowvchart above, identify, the following animals uéing the comrect letter (A, B,

Corb). [0
(i) Frog : Animal
{iij Shark . : Animatl
" Score
3
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31)Stem
Roots

32)a)A
b)D

33)a)To find out which magnet is the strongest.
b)4 thumbtacks.

34)a)The amount of food made by the plant increased for the first 60 minutes

and decreased in the next 60 minutes.
b)There was a lack of carbon dioxide needed for the plant to make food.

35)a)solid.
b)liquid.

36)a)4/2 niinutes.
b)The number of times his hands rubbed increases, the time taken for one
ice cube to melt in his hands decreases.

Page 1to2 page 1



Answer Key


37)a)liquid.
b)solid.

38)a)Lose heat Decrease in temperature
Gain heat Increase in temperature
b)27°<C.
C)AB, BC, CD
d)Part D.

39)a)The light from the lamp is reflected by the ball and enters Yvonne eye.
b)Material C. _
c)Material C is opaque so it will cast the darkest shadow on the wall
compared to the other materials.

40)a) A/-1: N B
RN

b)Stage B: larva Stage C: egg

41)a)i)T  #)F ii)F iv)T
b)The plastic spoon is a poor conductor of heat so it will conduct heat
slower than the metal spoon as the metal spoon is a good conductor of heat.

42)a)A,C, B

b)Rod A.

c)The time taken for the wax to melt on Rod A was the fastest compared to
the other rods as it was the best conductor of heat.

43)a)i)Move the toy nearer to the lit torch.
ii)Move the lit torch nearer to the torch.
b)Light travels in a straight line so when the light was shined on the toy, the
toy blocked the light from passing through if as the toy is opaque.

44)a)i)The young of animat B does not look like the adult but the young of
animal D looks like the adult.
il)Animal B is not an insect but animal D is a insect.
b)i)B
i)C
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